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SOCIAL WORK
PAPER -1I

Note : This paper contains hundred (100) objective type questions of two (2) marks each. All
questions are compulsory.

Ty

1.  The concept of ‘felt needs’ is related to :

{
(1) Social group work (2) Social case work / .
(3) Social action (4) Community organisation
L
2.  ‘Evaluation of self-based on reflection or social comparison” is knowh as :
*
(1) Self-esteem (2) ;&—awarerlless
(3)  Self-security (4) [ Self-confidgnce
3.  The process of mutual influence between worker and client ig'called :

(1) Relationship (2) Underst}ﬁding (3) Rgflexiveness (4) Rapport

. <
Vi
4.  Which one of the followingis a part of Human Development Index ?
(1) More gross natlonal product (2) More industrialisation
(3) Life expectancy ( (4) Fighting against social exclusion
5. Which among the following is observed as International Day for Natural Disaster
/ Reduction ? ;:f .
(1)  13th September (2) 13t October
(3) .. 13th November (4) 13 December

|
II'.
6.  Whigh one of the following is not a model of Social Group work ?

(1) " Social goal model (2) Remedial model
(3)  Functional model (4) Reciprocal model
ponoss [ HHTHANRLNAN : Fapec
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7.  Which among the following is not a dimension of personality ?
(a) Conscientiousness
(b) Extroversion/Introversion
(c) Perception
(d) Emotional stability
(e) Discretion f
Code /
(1) (a) and (e) only (2) (b) and (d) only f { r
(3) (c) and (e) only (4) (d) and (e) only
8.  Developing of feelings/attitude opposite to the an.xiety-»is : { HE-
(1) Reaction formation (2) Isélation
(3) Avoidance (4) _.."E:onfelssionl-l
/ ]
9.  If conflict between two groups is resolved in such aM that aspirations of both the groups
are met, this situation is called : —
(1) Win-Loose situation n %*2) Loose-LIGose situation
(3) Win-Win situation \ X d._){ (4) Confusion-Chaos situation
A
10. The alternative formula for determining mode is :
(1) Mode = 2 Megi‘ian <3 Mean (2) Mode = 2 Median + 3 Mean
(3) Mode = ’o’lMedlian 1 2 Mean (4) Mode = 3 Mean — 2 Median
‘4
11. , Which one of the following is the type of dream mechanism ?
. (1) Sublimatiov{ (2) Symbolization (3) Rationalisation (4) Repression
12. A positive correlation is present when
(1) two variables move in opposite direction
(2) ':" two variables move in the same direction
(3) one variable goes up and one goes down
(4) several variables move in multiple pattern
porons [N ‘ Fapec
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13. What rights are Human Rights ?
(1) Rights which are provided by the constitution of India

2

4

Rights which are fundamental

Rights desired by human beings

(2)
(3) Right provided to all human beings by nature
(4)

14. Schedules V and VI of the Indian constitution are related to :

(1) Decide state boundaries between the states

2

4

(2)
(3)  Protection of rights of tribals
4)

Protection of minorities in the country

Decide the powers and responsibilities of Panchayat Raj [

s N |i

15. The principle of specific objective is a principllelz,.éf #

(1) Social case work

(8) Community organisation

(2)

Soc1al group work

4) | Soc1a1\Welfare Administration

16. Which among the following is not a model in Urban gﬁuctu;e’ ?
(1) Sector model

@

Concenfric Zone Model

(3)  Social inclusive exclusive m"od_é,rl (4) Multiple nuclei model
<

i

17.  Which of the following statements is incorrect with regard to social problems ?

(1) All social problems are deviations from the ideal situation.

2

4

a

Social problems are c

used by many factors which are social in origin.

(2)
(3)  Social problems do not affect all individuals of the society.
(4) . Social prgblems affect different individuals differently.

18." ‘Sansad Adarsh|Gram Yojana” (SAGY) was launched in commemoration of the birth
anniversary of : |

(1) _ Sri. Deendhayal Upadhyaya (2)

Sri. Jayaprakash Narayan
Mahatma Gandhi

propounds that childhood experiences influence the adult behaviour.

(3) Sri. Atal Bihari Vajpayee (4)
II'.
19. y
(1) Prerson Centered theory (2)
(3) Psychoanalytical theory 4)
porons [N :
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20. What shall be the proportion of Women amongst the members appointed in the Advisory
Committee formed under the Equal Remuneration Act, 1976 ?

(1) One fourth (2) One Half (3) One Third (4) Full 100%

21. Under Juvenile Justice (Care and Protection of Children) Act, 2015, the State Child Protection
Societies are constituted at

(a) District level (b) State level .
(c) National level (d) Tehsillevel {
Code : ..f‘; .
(1) (a) and (b) only (2) (b) and (c) only | F
(3) (c) and (d) only (4) (a), (b) and (d) only
22. Point out the models in community organisation : = _ & { ;i'
(a) Social Action (b) Sqeial Planning
(c) Locality Development (d) ..' ommunity' Building
Code : , ' _a'
(1) (a), (b) and (c) only 2| (@ an% (b) only
(3) (a) and (d) only 4) (@) (b»g and (d)
\

23.  Which among the following is/are xiotkthe salient feature of current Indian population ?
a) large size and fast growth

b) second stage of demog;ap’iuc transition

(

(

(c) rapidly rising density

(d) sex ratio Compz)‘sition favourable to female
(

e) bottom weak age structure

Code : _
(1) (a),(b) arid (d) only (2) (a) and (b) only
/ (3) (b)and (C)le_lr (4) (d) and (e) only

24. Mary Richmond in her book, “Social Diagnosis” described the three basic categories in the
theery of social work practise. Choose those three from the code given.

(a) investigation or fact finding (b) diagnosis
(c)ll't treatment (d) social justice
Code :
(1) (r) and (b) only (2) (@), (b) and (c) only
(3) (b), (c) and (d) only 4) (a), (b), (c) and (d)
porons | IR ; Faper
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25.

26.

27.

28.

The five stages (Norming...etc) of group development was propounded by :
(1) Tuckman (2) Peter Trucker
(3) H.B. Trecker (4) G. Konopka

Which among the following statements is/are true regarding t-test ?
(a) an independent sample t-test compares the means of two groups.  a
(b) a paired sample t-test compares means from the same group at different time?’

(c)  the t-score is a ratio between the difference among two groups and the association
within the group.

(d) one sample t-test tests the mean of a single group against a known mean.

Code : 4§ { (
(1) (a) and (b) only (2) (lg.)“'and (dy only
(3) (a), (b) and (d) only 4) f ), (b), (c and (d)

| |'
[ ¥

Which one of the following will NOT result following‘tbgintrodpction of a more decentralized
system of management ? 4

(1) Increased motivation amongst ?hbse empowere& to take decisions.

2)  Greater consistency in tlieqﬁeq:isions made.

(2)
(3) The development of skills amongst the junior members of the management team.
(4)

4)  Anincrease in_the speed at which essential decisions are made.

-

According to Zeltman and Duncun, which among the following is not a strategy of social
action ?

"4
(1) Reeducative strategy (2) Persuasive strategy
(3) Facilitative 'tralt'egy (4) Bargaining strategy

Which one of the following act does define a “Child” as a person below the age of 14 ?

29.
(1),  Child labour (Prohibition and Regulation) Act
(2) ‘j" Juvenile Justice (Care and Protection) Act
(3) I;rotection of Children from Sexual Offences Act
(4) Prohibition of Child Marriage Act
ponoss [ HHTHANRLNAN 1 Fapec
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30. Which among the following days of the calendar year of National importance are correctly
matched ?
Event Date of observance
(a) Anti Leprosy Day - 24th February
(b) World Water Day - 22nd March
(c) World Health Day - 7th March
(d) World Earth Day - 22nd April .
Code { ’
(1) (a), (b) and (c) only (2) (b), (c) and (d) only | [
(3) (a) and (c) only (4) (b) and (d) only by
4 L 7,
31. “Criminal Law falls under , a theory of justice that considers proportionate
punishment morally acceptable response to crime. .
(1) Corrective justice (2) I.'’l]‘Distri})utivelzI justice
(8) Procedural justice 4) / Retrib‘tivéJ justice
32. The interview guide will be used during interview by ;=== f
(1) Interviewee “@2) Interviewer
(3) Different people \ ? © (4 Both interviewer and interviewee
33. How many disabilities are listed in the Rights of Persons with Disabilities Act, 2016 ?
1 7 {2 ‘{ 14 (3) 21 (4) 28
34. The 2017 Global Hunger Index (GHI) Report ranked India country out of 118
countries with ajserious hunger situation.
(1) 45th f Y (2 s5sth (3) 97th (4) 1015t
35. National Policy for Persons with Disability was adopted in India in the year
(11 2004 (2) 2006 (3) 2008 (4) 2010
L]
36. National Mental Health Policy was adopted in the year :
(1) 2005 (2) 2010 (3) 2014 (4) 2017
ponoss [ HHTHANRLNAN 2 Fapec
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37.

38.

39.

40.

41.

According to 2011 census of India, the total Scheduled Caste and Scheduled Tribe population
is .

(1) 16.6% and 8.6% respectively (2) 18.5% and 7.6% respectively
(3) 19.5% and 9.6% respectively (4) 21% and 8% respectively

A manager may delegate any of the following except :

Ty

(1) Authority
(2) Workload (
(8)  Responsibility f f
(4) Attendance at meetings to represent the department {
: ¢
The strongest evidence for causality comes froms ‘; re-searéh method.
(1) Experimental (2) }Cfl'lsal—corrmarative
(3) Correlation (4) fr'lllEthndirap__llly

“The weapons with which the bourgeoisie felled feug:lism 10 the ground are now turned
against the bourgeoisie itself” are thgwords of : { "
!

(1) Engels < [ (2 Armnold]. Toyenbee
(3) Zorokin Vi < (4) Karl Marx

What is meant by the term employee empowerment ?

(1) A process of gi\i;ing %mployees greater autonomy and decision making powers.
(2) A system that encourages workers to move more freely within the workforce.
(3)  The opf)o.ﬂ‘tunity to share a company’s profits.
(4)

4) A formal s';rtem of leadership that relies greatly on control.

42, Maglow, in his triangle of human needs, showed that :

(1) Challenghlg new tasks is the basic human need.

|

(2). Money always motivates workers.

(8) = Safety and security is a low order human need.

(4) Workers will not give of their best unless they have good social events provided

by the company.

pouos || [N 1 Fapert
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37.

38.

39.

40.

41.

42.

.r 4

TR 1 2011 1 SFIUAT o TR A= Sfd TR STIHE St i Fa SHEE §
(1) U 16.6 Ufae iR 8.6 Ufaw@  (2) shHw: 18.5 Wfawd iR 7.6 Wfawrd
(3) U 19.5 Wfqerd iR 9.6 Ufawrd  (4) wHES: 21 Widwd IR 8 wfawrd

T Yot foheh! SIS o TRAANRT hY Hehdl & 2
(1) IfEeR

%ﬂ
:

fawm =1 wfaffaE & & fog el # ufeufa

FIOCH Sl 319 T1ed oy fafy 9y BT | { Ji’

(1) YARTHS m‘@ﬂm
3) HE-Hsu (4) nﬂawﬁrw

HgSTiaTrSt (AWTREnT o1 7eg o) | f5 %i{-ﬂl@«lqulqg\ATﬂlﬁa?{ﬁmm 379 TRI AT IToh
fm W & T E'- 3 v forme €2

(1) Tsied ; 7)) amh—e’%zremﬁ

(3) SR ":H (4) e

"ehEE TfeReR T Ue i e ¥ 2

(1) FH=TE 1 Sifyes W iR Hifq fufo wfwmt 3 a5 w ufwar

(2) Wﬁ?ﬂﬂ'{ﬁw{wdﬂmﬁ4|E%ﬂm@ﬁﬁmaﬁaﬁaﬁméﬁaﬁ@aﬂml
(3) - AT HHFTH I T HLH T THh ST |

(4) ﬁaaaﬁwrﬁwﬁw | Fotedt, St s W etafus feik wdt B

Al 1 WA Hht \frilld?qqqdldﬁ ol oTq frentor § g T
(1) T B R S e W Skl § |
(2), ©F ARl Fod IR I T

(3) . TReM R gRan = goft i IS STAvER R |
(4)

4 %ﬁwwﬁqmmamﬂmswwﬁ KA, T doh AfHeh 391 I3 dlish 9 &
BRIl
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43.

44.

45.

46.

47.

48.

Organised descriptions of an activity in a structured form is known as :

(1) Model (2) Perspective

(3) Skill (4) Method

Which one of the following is not the function of community council in community

organisation ?
(1) Fact finding (2)
(3) Promoting public undertaking  (4)

Client-worker relationship is essentially :
(1) Personal (2)
(3) Social 4)

Protection against social contingencies is :

(1) Social Welfare (2)

/
(3)  Social Welfare Service 4) |

Fund raising

Coordination of activities

Ty

Purposive

Sympathetic

s N |i

b/( ¥
ocial Service

Social Sec1_1'rity

“Cultural Differences” are emphasised in which yearg Human Development Report ?

f

Which of the following apiiroach makes a shift towards channelising social services to needy

(1) Human Development Report -12002
(2) Human Development RepQ"rt £ 2003
(3) Human Development R}pprt 2004
(4) Human Development Report - 2006
people ?

(1) Basic ngecis approach (2)
(3) Equalitarie:n approach (4)

49. The calculated value of Chi-Square is :
(1) _ Always Positive (2)
(3) Both positive and negative (4)
II'.
50. Aarﬁ'_)'h Beck is related to :
(1) Gestalt Therapy (2)
(8) Client-centred Therapy 4)
porons [N 1

Unified approach
Holistic approach

Always negative

Neither positive nor negative

Cognitive Therapy
Task-Centred Therapy
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43. fodt difaa w9 § ts foran & dfed ®9 &1 fve M 9 SH1 S 22
(1) wfed (2) Tt (3) HNE (4)

44. HMCIUH G § AR 9Rue w1 fefafead § 9 s & T8 T2

(1) Qe &l 9T 6Tl (2) I A
(3) WSS FHE hl FEE oAl (4) ToramRamdl 1 T
45. Henefi-at Hele sAfET: - f
(1) =AfRE 2) Sy
(3) @S (4) wergyfayet -
"~ B (
46. TSR STRfEARaretl & favg GRe ¥ ;f( =
(1) T e ) *’W Tar |

(3) HHNS HeA Hell (4) wqﬁ%fm

47. fog 99 %I A fowe @ + Wﬁrﬁsﬁ mrﬁrﬁmw o1 ?
(1) = foshre RO, 2002« )‘.' (2) wma fasm RO, 2003
() i o fedig, 2000 VA (4) e foe R, 2006

48. Trefafed # @ wrar e gurs Jensti o aRafdd w2 STeans drl i R Igud § 2

(1) ngfaﬁwe%ﬂm{ (2) Hifed 3urH
(3) wmﬁrwm (4) oidreTel SUFTH
49."@?@@3?4?“%1%@1?11%%
(2) U<T TRREHR
SLSETNR aneiﬁ'{ﬂehl{l Heh QI (4) O SRR, 7 & TRRER

50. wﬁsﬁm@a’ﬁm%?

(1) e fafsmen (2) HaFTcHe fafewd
(3) Samefi-shfa faferean (4) E-hizd fefemea
rouors [ HHNIHMIAN L
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51. Which one of the following is not the basis of community ?

(1) Common locality

(3) Common political ideology

(2)
4)

Community sentiment

Common way of life

52. A man refused to marry within his own village, this reflects as :

(1) Endogamy

(2)

Exogamy

(3) Varna

53. Who is considered as a father of Demography ?

(1) Adam Smith

(3) David Hume

(1) Frequency Polygon

(3) Frequency curve

(2)

(2)

L@

<J
H'

54. Median can be located by which of the folldrwing ? \

1

/}Qnielie Guillard

T.R. Malthus - -

]

|
| I
|

Ogive ctirve

-

F
Fd

Histogrﬁm

55. Standard deviation is always-calculated from :

(a) Mean

(b) Median

(c) Mode .,
|

(1) (a) and (b)

nlyr

56. Avoeiding anxiety is related to :

(1) Reaction formation

Consultation

poro H|\||H|||

(2)
4)

(2)
4)

18

Find the correct ﬁg‘mswer from the code given below :

(a) and (c) only

(a) only

Confession

Isolation

(4)

Gotra r
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51. WA @ ffafad § & S sTuR & € 2

(1) EE & (2) HRH I HEl

(3) HAM USHITdeh foramem (4) Ster o1 FHA qlH
52. T &Y AU e % R fIaE A T TR T ¢; I8 TRt giafafted o € 2 P

(1) fafdamg (2) fgfeemg (3) @ H-
53. et SHifsheht o Teh fUar & ®9 § AT ST § 2

(1) TeH feoy (2) <R deud -J

(3) Sforem (4) Q}ﬁ‘é ‘Jﬁ‘é |

/ ]

54, WA 1 fAfafed § 9 fohgs g/ WWTWF;GT I 37

(1) ot agY (2) eiSTE

@) vt Cw s

. 4,;: |

55. T fo=e™ i wed UM renaﬁ w \.Yild'\l 772

(a) wIEI

(b)  feE

(€ W

y ﬁmmzﬁ'gﬁ‘aﬁwaﬁiﬁq :
L) e (@) S ) @) e (o) S

@) (a), (b) 3m| (©) (4) A (a)
56. gigl‘cl‘;dl Y I fRod Hafed €2

(1) gffsmen fomfor (2) SR

(3) (4) THIA@
rouos [ LA L
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Read the passage below and answer questions (57 - 61) that follow based on your
understanding of the passage.

Interpersonal skills are generally referred to as the social skills one requires to effectively
communicate with others. These include delegation, persuasion, attentive listening, leadership,
and reflection, verbal and nonverbal communication. Interpersonal skills as the word suggests
are most often used in any given organization to measure a person’s capability to correspond
and convey information through social communication and interactions.

In a conflict situation good interpersonal skills play a pivotal role, as they can help'f' to alleviate
the problem at hand. Interpersonal skills are developed with the interaction indj¥iduals
have with family members, attending school, socializing with peer groups etc. Good
interpersonal skills can aid in the reduction of stress, improving of social standing, augmenting
intimacy, resolving arguments, increasing understanding and spreading of joy and good
cheer all around. Some examples of interpersonal skills include communication skills i.e.

both listening and speaking effectively. Assertive skills include expression of théughts without

violating other people’s rights. - \ (
-
A two-way communication is of prime importa"r:’ce in developing good interpersonal skills.
Listening skills form a vital part in the basis p’f interpersgnal skills. One needs to pay close
attention and hear as to what the other pefson is|saying. He can then only process the
information being relayed, decipher it and formultte a cogent response. The next most
important element is called negotiation. This type of skill is fundamental for business
communication. It literally means that a person has the ability‘to discuss the matter at hand
and then reach an agreement in a pr*.)fessional way.. 4 ™
!

Effective communication formsgthefbasis of everything in life, be it business or personal
relationships. Itis seen that those who are lacking in interpersonal skills are more incompetent,
less qualified and therefore less Attractive personality wise. They are not cut out to be leaders
and will never be able to make progress as a consequence. Interpersonal skills are like tangible
assets that can help_people build stronger relationships, rapports and credibility in any
organisation. Furthe?more they can help in the attainment of respectability and recognition
amongst peers, and not only that good interpersonal skills can influence and motivate people
to aspire for leadership positions. A person with good interpersonal skills would naturally
have more charisma and therefore he would be able to earn more financial rewards as
compared withfsomeone who lacks such skills.

Fr

57. How interpersonal skills as social skills are used for effective functioning of an organisation ?
(1) 1t facilitatére to impose discipline.
(2) It helps an organisation to effectively correspond and convey information through
4 social communication and interactions.
(3) 1o develop a better understanding among people.
(4) To expedite the work in the organisation.
ponoss [ HHTHANRLNAN 2 Fapec

www.examrace.com



57.

et feu T TN i S 31K TH IS U T YT (57 - 61) T 3 TN o I H 10T THA
& SMYR T ST ST :

TSR hivTel i 31 F AR v § TSent STrereaeshdl TORI & T1el YTt Fare & ferg gt
T STqdAfaeh RV H YARISH, T3, SMYde Jav, Jqcd aen ST, aifesh den sTanfas
gomor wnfyer €1 St o v ¥ Hoha W @ W ¥, STaAfaash hivtet k1 SAfueRier U foR
TEfTeR GiTeA H fohan STan © e ranfsres SUwr den STRafshan R MR Sl deTEY I ad
U SR T hi &THAT ! HIIT ST T | '

g5 Teafd o Sw srqdafads hivel i T Hewyul W@ﬁ%aﬁrﬁﬁm?ﬁw
T 1 5 Gl § Heg THerd! ¢ | WWWWWW@@W%W ISE]
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it SO B o St S T el T ¥ 1 e st S
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ek I g aTel H1 YA T HAEH, IFTET A SW S Whl §1 THU FEw@YY
T W Feard! & | 39 TR I HIvIel ™ FI0 % T qav 81 30 ik &9 §
o =afert bt el fererer o =it < e, rerenteren Gf § forell Tl deh g o1 arwal )

et S, fea wfafer % siier) =1 9 et € sten SAfRd deiy, SR | TE
2 T § TR T s B sragafadh vl 1 ST S § og sifush stam, s ()
3R 39 TR AT o fe8a & 7 STt Bd © | o Ta1 o 1 HIGaT T8l Tad SR aRomea: e
ST TE T A | ST KIoh vl Adiorsh Tl i TE € 5o St =l fohelt wira & wrl
© e Hoitl oM, SISt i qen faveretad e # 3 Heg fHerd €1 s st
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58.

59.

60.

61.

What are the benefits of good interpersonal skills ?
(1) It creates friendly atmosphere in an organisation.
(2) It encourages the employees to perform their duties in a better way.

(3) It helps in reduction of stress, inproving of social standing, augmenting intimacy,
resolving arguments and increasing understanding in the organization.

(4) It gives more profits to the organisation.

Ty

How interpersonal skills are developed ? /

(1) It can be developed by having lot of patience. { H

(2) It is learnt through practice. f

(3) A typical personality is required to develop interpersonal skills. {

(4) Interpersonal skills are developed with the interaction individual ha¥e with family

members, attending school, socializing with peerigroups ‘etc. (
-
How does listening skills help developing interpersonal sl_t'ills ?
F

(1)  One needs to pay close attention and hear as to w_lrllat other person is saying. He can
then only process the information, de¢ipher it E formulate a cogent response.

ills. 4

(3)  One should not listen bad thin%f for developing ',inte‘rpé';‘sonal skills.

(2) Listening skills are different from interpersona

(4) Listening everything is a difficklltl‘exercise.
-«

<
Are interpersonal skills tang‘ib!e’iassets for leadership roles and positions ?

(1) No they have nothing to do with the leadership positions.

(2) They help people to build stronger relationships, rapports and credibility in any
organisation which helps people to get recognition and responsibility and aspire for
leadership positions and role

(3) Interpegsolnal skill development is a time consuming process

(4) Interpersonal skill development is not possible with everyone
J\' n

Assertion (A) : Locial work is often divided into three broad practice categories : Macro,

62.
'Meso and Micro which address the issues of larger communities,
neighbourhoods and individuals respectively.
Reason (R) : These three levels of social work practice seems to be watertight
"\ compartments.
Code :
(1) Both (A) and (R) are true (2) Both (A) and (R) are false
(3) (A) is true and (R) is false (4) (A) is false and (R) is true
porans [[[{IHITNHLNN 2 Faper
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58.

59.

60.

61.

62.
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63. Assertion (A) : Social stratification means division of society into different strata which
involves a hierarchy of social groups.

Reason (R) : All societies are stratified either based on caste or class system.
Code :

(1) (A) and (R) are correct (2) (A) and (R) are wrong

(3) (A) is wrong and (R) is correct (4) (A) is correct and (R) is wrong

P
[

4
64. Assertion (A) : The Department of Empowerment of Persons with Disabilities has thfe vision

to build an inclusive society. i r
Reason (R) : The Department acts as a nodal agency for matters pertaining to disability
and persons with disabilities. . y
Code : d { :
(1) (A) and (R) are correct and (R) is the correet e>.<p1‘9nation of (1{)
(2)  (A) and (R) are correct but (R) is not th¢ correct explanation of (A).
(3) (A) is correct and (R) is wrong. r.! ' _a'.
(4) (A) is wrong and (R) is correct. ‘ ﬂj
] -

J
F
Fd

-

65. Assertion (A) : To solve social problems, one must Know the causes.

Reason (R) : The dlagnostlcqqrogess helps in organizing these causative factors into one
whole, therelgy;mﬁkmg it more meaningful.

Code : -

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are!{true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) - (A) is false but (R) is true.
44N
66. Assertion (A) : Leclirsion making process must take cognizance of the policy statement.
Reason (R) :  'Policy is the framework for taking decision.
In the context of the two statements which one of the following is correct ?
(1) Both (A) and (R) are not correct.
(2) ¥ Both (A) and (R) are correct but, (R) is not the correct explanation of (A).
(3) Both (A) and (R) are correct but (R) is the correct explanation of (A).
(

4)  (A) is correct but (R) is wrong.

porons | IR 2
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63.

64.

65.

66.
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e
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67. Assertion (A) : The Third generation Human Rights are collective rights such as right to
development and self-determination.

Reason (R) : Community Development needs a human rights based framework if it is to
be successful.

Code :

(1) (A) and (R) are correct and (R) is the correct explanation of (A).

(2) (A) and (R) are correct but (R) is not the correct explanation of (A).

(3) (A) is correct and (R) is wrong. {

(4) (A) is wrong and (R) is correct. .'r‘;

I [
68. Assertion (A) : Case worker must take all and every fact that taken together, through logical
and inferential reasoning. J

Reason (R) : Logical reasoning would reveal the client’s pergonahty and his /her situation
for appropriate action. g {

Code : /"’ -’

(1) Both (A) and (R) are true and (R) is ’cheJF correct exp'lanatlon of (A).
(2) Both (A) and (R) are true but (R) is naot the c rect“explanatlon of (A).
(3)  (A) is true but (R) is false. Ds

(4) (A) is false but (R) is true.

Fd

-

% f
4
69. Assertion (A) : Diagnosis may be viewed as a fluid, constantly changing assessment of the
clients, their }%b]@ms, life situations and important relationships.

Reason (R) : As such dig_gnésis in social case work is not an ongoing process.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (Ii) are (true but (R) is not the correct explanation of (A).
(3) (A) is truejand (R) is false.
(4) - (A) is false and (R) is true.
A
70." Assertion (A) : f’sy&hosocial study is an ongoing process that involves exploration

observation and documentation of both objective and subjective facts from
‘a variety of sources.

Reason (R) : | Mutual engagement of the worker and the client in the process is essential.
Cade :
1) d Both (A) and (R) are correct but (R) is not the correct explanation of (A).

(2) = Both (A) and (R) are correct and (R) is the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) ) is false but (R) is true.

T
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67.

68.

69.

70.

porons [T ANEAI :
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W’ il \ 'I.
(1)

(A) 3R (R) I 5 § 3R (R), (A) aﬁa%j,féw%fl.
2 (A

(A

(A

)

) S (R) S & € Foheq (R), (A) P T =amen = < |
) & © fheg (R) 7o €1 ' :

)

(3)
TTerd ©, foheg (R) T R 3{,‘”

(4)

sfermer (A) : e SR, S s, S arfeerf qen s w6 e,
Had qﬁd&ﬂ?ﬁﬂvﬁ%ﬂ o €9 H HHE SR |

e (R) : Tafay, sAfaa u % T wiskan T 81

e

1) (A

2 (A

G) (A

4 (A

3 (R) I Tl € 31N (R), (A) ST HEl =R © |

3R (R) ﬁ‘ﬁ%fm‘ﬁ(m, (A) Tt TE =T T T
& ¥ R (R) Terd T

Terd § 3R (R) T& R

N N

| iR (A) fl‘ﬁwﬁvﬁh‘ I T Haad yhhan © o fafve &l 9 ura awgiss qen

oS qeAl o1 THOTT, Y&IUT qT Tl I §
e (R) : | 39 Hfshan | shat g Yaneff st IRealie Hergar etfer ®1
RE - |
(1), (A) &R (R) SHi & € foig (R), (A) B T = T R |
(2) * (A) ¥R (R) < 9l € 3R (R), (A) 1 HE SEA |
3) (&) ¥ %, g (R) T B
(4) (A) 7T %, fohg (R) W& 1

N
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71. Assertion (A) : To be empathetic social workers need not put aside their view point to see
things from the other person’s point of view.

Reason (R) : Being sensitive to other person’s perspective makes social workers more
empathetic.

Code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

f
(3)  (A) is true but (R) is false. .‘I“J
(4) (A) is false but (R) is true. i' : J ‘

72. Assertion (A) : Social action leads to social legislation. - y

.

Reason (R) : Existing systematic processes and institution are challenged through social
action. i {

-
In the context of two statements, which one of/?ie following is correct ?
|

(1) Both (A) and (R) are correct / \ |

(2) Both (A) and (R) are not correct ’I ‘ '

(3)  (A) is not correct but (R) is correct 4’{‘ F
4) 448

(A) is correct but (R) is not COI'E?C’E
l‘. r
< f
73. Assertion (A) : Group interaft’iion*‘-should be guided for accomplishment of group goals.

Reason (R) : There is ameed for free interaction among group members without any
guidance .

In the context of theéie two statements, which one of the following is correct ?
Code : ' |

(1) Both (A) and (R) are correct.

(2 (A)is cér?ect but (R) is not correct.

{ (3) Both (A) aﬁ: (R) are not correct.

(4) (A) is not correct but (R) is correct.

74. Identify the correct sequence of the stages of social movement.

(1)"\ emerge, bureaucratise, coalesce, success or failure, decline.
2

w . . .

(2) . emerge, coalesce, bureaucratise, success or failure, decline.
r

(3) emerge, coalesce, success or failure, bureaucratise, decline.

4 emerge, bureaucratise, decline, coalesce, success or failure.

porons [NV
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71.

72.

73.

74.

porons {1101

@
e
(@)

AMUFRYT (A) :  TeIYfaeh B o oI THS hrefendiat sl X SAfH o ieshivn § =S o ST &g
3T gReahIvr 1 AR LA i STavThal Tel T

T (R) : T % ufded & uia HaeTeiel 8 9 9T srfehatl 1fas deqafas 2 ¥ |

(R) SHi @& ¥ 3R (R), (A) & T& =0 €
3R (R) <1 =&t ® g (R), (A) 1 T = =& 21
e § fohg (R) o ®

f

AR (A):  Irifsrn fohen | wrifsren faum o= €1

& (R) : WWWWWW@HWW@I@W?[W%I
Wﬁmﬁ%mﬁﬁﬁmﬁrﬁ@aﬁ@aﬁﬁwﬂﬁﬁ

1) (A) 3R (R) 2 T £

2) (A) 3R (R) S W& T , .
(3) (A) T TE 2, g (R) T 2 ‘Hf
4) (A) 9@ g, fhg (R) W& 72 € a f'

s (A): e ST A w5 e e @ e
@ (R) : WW%‘E‘H for foret wmiesi <t Tda-3=a=afshan M1 =nfeT |
ST & Al o dey § Ffafad # 9 SF-91 FF 98 T 7

%< : '
(1)

i
(A) aﬁT(R? A w3
(A) w"rd%am (R) & T |
(A) 3R (R)&Hi &l 7 € |
(A) & T &, g (R) w1 31

SIS SATer B <Rl & W FH F e H

11 3], Fshelsl, ' Hifadl’, Therdl A1 STEwRard, fee
(2 ) {53, ‘hiferdl’, SUshergst’, TRl A1 STHEeAdI, e
(3) FevE, ‘Hiferet’, TReTd o ST, SRerEs, iR

(4 3@%{ %{I%dl%q II{I0|d °h||(’1H| HhAdT AT AHD A

il 2

www.examrace.com



75.

76.

77.

Identify the correct sequence regarding stages of group formation given by Klein.

1 Orientation, Negotiation, Resistance, Intimacy, Termination

3

1)

(2) Negotiation, Resistance, Orientation, Intimacy, Termination
(8) Orientation, Resistance, Negotiation, Intimacy, Termination
4

4) Resistance, Negotiation, Orientation, Intimacy, Termination

P
[

Identify the correct sequence among following steps given by Kirst Ashman aﬁa Hull
regarding use of strengths perspective in macro practice. { r

(1) Idea, muster support, identify assets, specify goals, implement the plan neutralise
opposition, evaluate progress

r

(2) Idea, muster support, specify goals, identify the assets, 1n’1plerqient the plan, neutralise

opposition, evaluate progress >

(3) Idea, muster support, neutralise the opposmon spec1fy goals, identify assets, implement
the plan, evaluate progress | i

| [}

(4) Idea, neutralise opposition, muster support, spe%ify goals, identify the assets, implement
the plan, evaluate progress ‘.ﬁ

ﬁ\ '
oose the correct sequence o ar of enactment'of the following labour legislations in
Ch th q f }{e f f the foll g lab legisl

chronological order. L

(a) Trade Union Act -—” (b) Minimum Wages Act
(c) Industrial Disputes Act (d) Payment of Wages Act
Code : { J{

M @ b)) @ @) (), (), ©, ©)

(G) (@) ), (é); (a) @ (O), @) @), [

78. Arrange the following popular social movements in the sequence of their genesis year :
(a) = Nirbhaya .;Tnovement (b) Chipko movement
(c) Narmada Bachao Andolan (d) Jan Lokpal
Cokde' 5
(1) (5)/ (b)/ (c) and (d) (2)  (0) (9) (d) and (a)
a) and (d 4) (d), (b), (c) and (a)
porrs H\IHHIII\I\IIHI\ . Faper
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75.

76.

77.

78.

J-01018

(1) ()
})d é

FeiT GRI SIqeT, T FHE 01 o =0 o W&t A i 8o i ;
(1) e, g, i, sfrsd], JHe
(2) i, gferiy, sttt afradl, THE
(3) e, gfads, o, =frsd, JHeE
(4) ufaQy, 9, sttagEte, afredl, TEE

4

wﬁawawmmé;whmﬁﬁqﬁéméauaﬁé;mﬁﬁwwaﬂiwmwﬂﬁ
fr=fafad edl § 9 |a&r hY i 989 i ; {

(1) fa=R, TmeA e, aRemfal ot Je=am w4, H&Hﬁrﬁﬁzw W@Wﬁﬂm
i =1 frogrelt e, Wil ot HouTehe e |

) fouR, guedq Jem, @ea ffdse %, wﬁﬂmﬁiﬁraﬁwm @waﬁﬁmﬁaw,
oyt Frrsgerelt 2, T <1 oaTehR Eh‘xﬁl

3) TemR, Tme e, ﬁﬁaaﬁﬁr&qwm E&ﬂﬁﬁ%m uReetEl it Tew S,
A1 <l foranfad e, TT%EMWER‘—M

4) faur, fady = foamet &, guedq e, awgﬁgm JReeafaal &l weEe I,
RIEEIEIRERIErIETTI ! ‘;I"TFCTWH\F\’TIEIFTWI ¢ a

1 |
ﬁwﬁf@a%ﬁaﬁaﬁa{uﬁw%&aﬁ%aﬁ%mﬁmmﬁ%aﬂﬁﬁ:

(a) aftw w9 efyfem (b) —FAqH HsIgh sttt
() aﬂa‘rﬁmﬁaﬁsﬁuﬁm (d) TSGH e sty

(d) (2) (@) (d) (9) (b)
(a ) (b), (), (a) (d)

frAfafad Tehiud AT STRleTl bl Seh 3TRY B & o8 o oA H FId Hife :
(a) o Fsfen axrqﬁ?q (b) TauR! e

() TH el A (d) SH SRS

=

(1) @), (), (©) 3R (d) (2)  (b), (©), (d) ¥ (a)

(3) (9 (b), (a) 3R (d) 4) () (b), () ¥R (a)

[ g
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79.

80.

81.

82.

Sequence the following steps of community organisation process :

(a) Identifying needs
(b) Exploring the resources
(c) Prioritising the needs

(d) Developing programmes

Code :
(1) (@), (b), (c) and (d) (2) (a), (0) (b) and (d)
(3)  (b), (a), (c) and (d) (4) (o) (b), (a) and (d)

Identify the correct sequence :

(1) Impairment, disease, disability, handicap

(2) Handicap, disease, impairment, disability {
(38) Disease, disability, impairment, handicap

-
(4) Disease, impairment, disability, handica I-

f/ , f

Arrange the following important days observed in agc\,hrénological order in a calendar year :

(1) World Tuberculosis Day, World Kidney Day,
Day s

-

rld Cancer Day and World Disabled

(2) World Cancer Day, World Kidhey Day, World Tuberculosis Day and World Disabled

Day { |

-«
(3) World Disabled Day, W?r}d Tuberculosis Day, World Cancer Day and World Kidney

Day

(4) World Cancer Day, World Disabled Day, World Kidney Day and World Tuberculosis

Day

-

{
|

Identify the cortect sequence regarding stages of social case work.
(1) . Study, in‘@ke, social diagnosis, treatment, termination, evaluation

2) Intake, stugg, slocial diagnosis, treatment, evaluation, termination

(
(3) Intake, stu
(

4) Study, social diagnosis, intake, treatment, termination, evaluation

Of the followingI which one is a correct sequence :

83.
i
(1) _Coding, classification, tabulation, editing
(2) . Classification, coding, editing, tabulation
r
(3) Editing, coding, classification, tabulation
(4) Tabulation, classification, coding, editing
yarors [[[FHIEIRALANT 52

, social diagnosis, treatment, termination and evaluation
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79.

80.

81.

82.

83.

IR ST Ufshan o Frefafead =ron =l e o =afid Sifse

(a)  STETIAHRAHA! hl YA

b)  HETEHAT T qdl I

(
(c) ArerEharsti s wrefierdr feiftd s
(

d) HEHA T

<

(1) (@), (b), () 3R (d) 2 (@) () (b) R (d)

3) (), (a), (o) 3R (d) 4) (), (b), (a) 3R (d) {

(3) T, F.vrean, gaer, s (4) ;ﬂ# geieral, .37k, sren
/ i |

foret ket o T T A e fede o 7 e Fif

(1) foea S, feerw, foee Tef feow, foea e foag SR fowe M. arewm foom
(2) forea e fearm, forea Tt oo, forge Aeh. o 1R forwar oo fearm
O BRELERERESRIATCLA qu_ ‘&@T{%ﬂ, fova $oR feag ol fava Tl feow
(4) fava S feaw, favg ﬁ_ﬁm fearm, forva et e si fava e, feam

Wwﬁ%@?ﬁaﬁﬂﬁmﬁwaﬁﬁa:
(1) ST, Fo91, WIfSTeh e, ST=IR, Wi, Jeeich

2) T, g MRS M, ST=R, s, TAI

(2)
(3) T, STeAdy, e TS, SUER, T, qearhd
L@

Fraferfm & & A wdt 70 5 &7

(1)  HihdehTehtvl, SfTeRTol, FRUEO, IR
B T ¥ e
(3) - YUTeH, Hichfaehehiol, Siiehto], TR0
4) IR, SR, Hichfdentenol, HAGH

(4)
porons [T ANEAI »
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84. Arrange the process of communication in sequence.

(1) Encoding, decoding, recipient, channel

(2) Channel, encoding, recipient, decoding
(3) Channel, decoding, recipient, encoding
(4) Encoding, channel, recipient, decoding

85. Match List-I and List-II and choose the correct answer from the code given.

List-1 List-1I p
(a) Arya Samaj (i) Madame H.P. Blavatsky {
(b) Prarthana Samaj (i) Suddhi movement { [
(c) Theosophical Society (i) Henry Vivian Derozio
(d) Young Bengal Movement (iv) Atmaram Pandurang® N
Code : 4§ { ;i'
@ () © @ Pl
O O G @ W) / |
@ @ @) 6 G [ \ |}
@) @) @) () 0 : \ -'
@) v 6 @) (@ / ;
86. Match List-I and List-II and choose %he correct answ_gr from the code given below :
List-I . d_'{ List-II
(Practice Theories) A (Focus on Improvement of Social
- Functioning by)
(a) Psychodynamic Theory (i)  Increasing self understanding and feelings of
" self worth
(b) Behavioural Théory ! (i) Assisting client to learn more realistic and
' positive, ways of perceiving, thinking about
" 4 and interpreting their life experiences

(¢) Person-centred Theory (iii) Helping individuals to understand better their
inner thoughts and conflicting feelings

(d) Cognitive-f!ehavioural Theory  (iv) Helping individuals to learn new behaviours
and eliminate trouble some ways

Code : |
L @ () (0 (d)
M\, @) 6@ 6 G
(2) = (@v) () @) )
G @ @ 3§D ()
(4) (@) (@(v) @ (i)
pouons | 5 Papeci
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84. HIUTU UHAT o HH hl SHaEerd hiford
(1) pecred, fagsad, ST, = d
(2) =, Hecred, 3T, fosad
(3) =d, fagehad, STewI, FHeered
(4) FeerEH, =9, 3TewI, faEsha
85. Wel-1 %I Geli-11 & T GATAd HIT IR 9 WY &3 T3 %2 H Aeg I e TN Fl =5
CAISER s
g1 -1 i ,
(a) & TES () Hen Tl JaEeEnt
(b) WA TS (i) IS ST<Ie
() TraEfrea demEed (i) e fafes <ufsEn J'i'
(d) TS AT (A=) (iv)  STHRH FGTT
% / |
@@ (b) (9 (d) /
L O @) @) ) f ‘ '
@ @ @) @) ) /
®) (@) @@ @) @ : y
4 (@v) @@ @) (i) Y { "
86. ¥EIT-1 1 Tell- Il%wagﬁmﬁﬁﬁaﬁwﬁ%ﬁﬁnﬁ@@qﬁwwwaﬁm
-1 TeA-11
(v faegia) (TS g1 WS T o GR W hichd faT SIram &)
(a) TRt fag () T Y U & YA hl WieHS! hl g
(b) TrREREE s (i) Qe B TF e % emuet % aR # s
ek AT FhRIcHeh il ! GRa- TE 3
“ 4 AT LA § Heg HEl
/() SAfF-hfgafagr (iti) AT ol 3T SAiafeh forarl aem ggIceh wreTst
' # ) %l SEHR T H FHEH H 7SS hAl
(d) HAETHS FeRRae! fagr (iv) SRl T HIRR WG 91 F2US el
: ' G L H HRFdl Al
% : |
L@ B @ @
1) ¥ @Gv) @@ @) (i)
2 (v (@@ @ @
(3) () (11) (111) (IV)
(4)
- il .
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87.

Match List-I and List-IT and choose the correct answer from the code given below :

List-I
(Focus of social work perspective)
(a) Focus on several levels of investigation
(b) Focus on the “person in environment’
context of a practice situation
(c) Focus on the dynamic interplay
of biological and social systems
(d) Focus on the problems and effects

of discrimination

Code :

@ (b ( (d) g
M @) @ G () /
@ O @) @) @) i
@) Gv) (@) @ ()

@ G @) @ @) 4

List-1I
(Perspective)
The Eco-system Perspective
The Generalist Perspective
¢
The Ethnic-sensitive Perspfttjve
lp' [

The General Systems Perspective

r

88. Match List-I and List-II and dhbose the correct answer from the code given below :

List-1
a) Resident at wifie’s place
b) Resident at husbands place
) Resider}t-dcl:f native place
d) Resident at diflferent place because they

are forced to leave their native country

Code
@ () (9 (d
M) @ G/ G )
@Y @) ) @ @
@ @ O @ (@
@ @ (@) @) ()
porass [[[HIHIINAN .

List-1I
Patrilocal
Matrilocal
Refugees

Son’s of soil
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87. -1 1 Gel-11 & WY Gafad Hifee iR = 53 T8 e | W& ST 1 997 S

geit-1 Ter-11

(TSR e |yl T Wi ) (ufuea)
(a) SFA9Y % fafiE TR R wewd () —Rffaet 73 aRus
(b) e feafa < el H ‘oo § Al WEEE (i) W e,
(c) Sifoek qen WIS SaEensii o Tfadh IReaRE (iii) Fd-Had tlﬁ'ﬁ%?} /

TS T HIRE r J -
(d) HRHE HI TR T Y& T Blhd (iv) WHE e aRued
%< : .

(@ (b)) (o) (d) (
W @6 & A
2 @ G 3§ @) ” .
@ @) @) 6@ 0 | ‘/
@) ) @) @ 0 p

4 ' Bl
88. 11%&—1ﬁ@—ll%mm%ﬁﬁﬁﬁ@@ﬁmﬁwwmwaﬁﬁﬂ:
Teft-1 M -1
() T % R e (i) fceentTer (Hfgeiene)
(b) % W R Farg ’{ i) gt (Afeciene)
(c) & W femra (iif) IR
(d) ﬁfw;’iﬁm e & ot Fifer o 10 (iv) Rl 9o
([ womsfrm e
- | .
(@ () [ (d)

@ @ @) @) G
(2) ¥@v) G G @
@) @ O @) (i
4) iv)

) (@) () (i)
pouoss || FLRIMHANAN :

N
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89. Match List - I and List - IT and choose the correct answer from the code given below :

List - I List - II

(Concepts) (Proponents)
(a) Social Distance Scale (i)  Sutherland
(b) White Collar Crime (i) E.S. Bogardus
(c) Dominant Caste (iii) Robert Redfield \ p
(d) Little Community (iv) M.N. Srinivas ( { J
Code

@ © © @ s
1 G @ (@v) () v 3 'i
2 @O @ @) (@iv) / ."
®) @) @) @ 0 F\
@ ™ @ @ o \ /

¥ ”
90. Match List - I and List - IT and %oase the correct answer from the code given below :
List - I Vi < List - IT

(Activities) . (Concepts)
(a) Mobilising groéis-roois organisations (i)  Social reform
(b) Changing basic Ivalués in society (i) Social advocacy
(c) = Mass solty;'ions to mass problems (iii) Social action

/ (d) Development of whole society (iv) Sarvodaya

Code éf '

@@ (b) () (d)
1 @ @ | (iif)  (iv)
@WE O @) 6@
@ ® @ @ o
@4 @) @@ @O @)

s [ DI N
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89. el - [ &l Gl - II o T GAfad iy 31k I7h Ty A T e &l 78 | W& SW 1 =
HifS

T - 1 Tt - 11

( ST ) ( gk )
(a) ISR TR AT () WIS
(b) TS Y (i) 3TE. S
() Wt e (i) T YeHTS (
(d) ST YA (iv) TH.TA. gifem !
%< : :

@ () (© (@ | (
M G 6@ v ) 1% 2
@) () @) @) (@v) £ I.'
@) G(v) @) @ () \
@ @ @ G 6 /

9. geﬁ-mq;ﬁ-na:mgaﬁaﬁ‘ﬁqaﬂzﬁwf%@@ﬁm@wwww
HIfS : X <
Tt - 1 -—” gt - 11

(TFTE®HATT) ( SAFLTIUT )
(a) Wwﬁs@%ﬁaﬁwm (i) G R
(b) Wﬁq@%ﬂ?ﬁaﬁm (i) TSI T wHeA
(@) e o e W (i) o G
(d) WW};’W (iv) weied
%< : .

@ O @ @
M, G @) ) Gv)
@ V) @) G (v
@) @v) (@) @) ()
@ i) G @ v

rauons [ INNINAANIN 5
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91.
List - 1
(a) Primary Socialization (@)
(b) Secondary Socialization (ii)
(c) Anticipatory Socialization (iii)
(d) Re-Socialization (iv)
Code :
@@ (b) (o) (d)
1 @ (v) () (i)
2 @ @) @) ()
@) @ @ @) () 4
@ @) @ o @ «[f
Y4
92. '_
List - I . i
(Schemes) i' {
(a) NSFDC, | (i)
(b)  PMMSK % (ii)
() SAUBHAGYA\ (i)
(d) PMAY (iv)
Coc}e -
@ () I (@
M @) @) 6 ()
2 L@ @) (v ()
@) (v @ G 0
4) (@) @ @) ()
rouoss || MU

Match List - I and List - IT and choose the correct answer from the code given.

List - I1

occurs when one learns the attitudes, values and
actions appropriate to individuals as members of a
particular culture.

refers to the processes in which a person rehearses

for future positions, occupations -and"social
. . £

relationships. !

refers to process of learning whatis the apgff)priate
behaviour as a member of a srr},aller group within
the larger society.

refers to process of discarding former behaviour
patterns and reflexes accepting new 6nes as part of
a transition in one’s lifé. (

Match List - I and List - II and choose the correct answer from the code given.

List - II

(Focus)

economic improvement of SC
Rural Housing
empowerment of Women

electricity

40 Paper-II1
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91. e - I &l Gl - 11 ¥ Gafer Hifee AR = ST 7T e 1 J30 Fd gC @ S T

92.

T - 1 g - 11
TR AHTSITERToT () @ =fcd BT ], STd AfK hl Th 99 H&hid &
Hewd % w § oAl % forg S it
i 3R fohaneii 1w = 2|
STHT WSRO () ST wfshet i Hefa e 7, forad safe s
fearferdt, Wreit iR Wt west ¥ fow gatem
g
TATTHTT HTHTSTRLoT (iif) ?f:mlﬁsﬂmaﬁmﬁam%%w
US| % e Th R WHE h W % w9 U
FHITET PR ST € | v
KERIEIEIEaY (iv) W%@m@mwsﬁm
k| ﬁﬂm%aﬁ?wlqﬂ%wqdﬁ HehAT
T & T FfHI hT TR FTH b1 TS
Ifm‘cn 7 f.'
\/
) (b) () (d —_
) ) (i) () , (
> B8 e g
i) (i) () (V) -
Tl - [ 1 g - II%W%@WW@T%WW@WWW@W}WW
whor, et - 11
(s ) (IHH )
LT TR . () T F enfdw feafd H gur
T T T | (i)  THIOT STTET
gy (iii) Afge HerfoRTeROT
R R E (iv) fosteft
a) (b) | () (d)
i) (v) () (i)
(i) (iv) (i)
1v) (ii) (iii) (i)
poos H||\||H||“||H||||\IHIH\II\IHHIIIIH\H“||\||\|\ i
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93. Match List-I and List-II and choose the correct answer from the code given.

List-1 List-1I
(Theories) (Proponent)
(a) Conflict Theory (i) Auguste Comte
(b)  Functional Theory (i) Gerhard lenski. Jr.
(¢)  Unilinear evolution Theory (iii) Talcott Parsons
(d) Multilinear evolution Theory (iv) Karl Marx
Code : {
@ ) (© (@ (
1 Gv) @) @ ) f i
() Gv) (@@ ()
() @ @) @) @ 4
@ @) @ @) () r
il {
94. Which among the following pair/s is/are cornéﬂ;ly matched ?
(a) Bowly (i) Attachment Thef)fry .
(b) Piaget (i) Psycho-social Developme ntal Theory
(c) Erikson (iii) Cognitive Developmen ‘; heory
(d) Bandura (iv) Social Learning Theory
Code : A
(1) (a) and (b) only < f (2) (b)andi(c ( ) only
(3) (a) and (d) only Vs £ @ (a) (c)and (d) only
95. Match List-I and List-II and choose the correct answer from the code given.
List-I - List-1I
(a) Rehabilitation (ﬁouncfl of India Act @i 1995
(b) Persons with Disabilities (Equal Opportunities, (i) 1992
Protectima‘ of Rights and Full Participation) Act
_(e) National Trust for the Welfare of the Persons with (iii) 2006
{ Autism, Cefebf’al Palsy, Mental Retardation and
Multiple disabilities Act
(d) “National Policy for Persons with Disabilities @v) 1999
Code : |
L@ k)@ @
W\, @) 6 Gv) ()
@ @) @) @) W)
(3) (ﬁi) v) @
@) v @ O @
porons [T 2 Fapec
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93. get-1 o1 Gelt-11 & e GAfad wifag 3R = fSU 7T e 1 T 3t U @&t S AT

-1 eft-11
(fagia) ( wedeh )
(a) Herd fogia () AT
(b) Yk fagia (i) TGS =&, SR
(c) ThGEH fow™ fHgid (iii) Zfetepie TrH=H
(d) =g fowd fagia (iv) <RIt AT
<< : {
@@ (b) (o) (d) {
1) (v) (@) (@) (i)
(2)  (v) @) (i) ()
() @) (D) (@v) () ,
4) Gv) (@) (@) (i) : (
94. fretforfam § @ T4 7 Gk ¥7 A d
(a) S () omafm fagra /
(b) TrEms (i) n=h wm%m{:r ﬁq::’F
(c) Uit (1) fl
(d) gy (iv) Hmﬁm aqfav:r fagr
%< { _
o (a) 3R (b) N @ FE () ER (o)

(1)
(3) e (a) ¥R (d) V (4) e (a), () AR (d)

95. ei-1 il Gei-11 o W1 GHfed i AR 9 3 e 9 9@ S| g

get-1 -1
(a) R G aReg s @ 1995
(b) szqﬁ;qjﬁﬁ (A TR, SRR T 3R qoi qriert) (i) 1992
() UEH Mq{%} TR BT, A Hedl iR agi: (iii) 2006
QTR SHfeRd shed ol =19 STffa
(d) U T st fifd (iv) 1999
: I
Wﬂ @@ (b) () (d)
M@ @ Gv) (i)
@ =® @ (@) (i)
®) @) @) @@ @
(4) (@v) (@) @1 ()
rowss [ NI i Faper
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96.

Read the passage below and answer questions (96-100) that follow based on your
understanding of passage.

Globalization refers to the international integration of all processes associated with economic
production, distribution, and consumption. The process has been on-going since the period
of the Enlightenment and is most reflected in the market and free trade principles associated
with the economic theories and contemporary neoconservative economists.

Increasingly, globalization has spread beyond the marketplace and now seeks to harmonize
a great variety of social, political, and military systems. A social work based definition of
globalization describes the conceptas a process of global integration in which diverse peoples,
economies, cultures and political processes are increasingly subjected to international
influences. Additionally, it was suggested that globalization indicates the emergence of an
inclusive worldwide culture, a global economy, and above all, a shatfed awareness of the
world as a single place. ;

.

Certainly, modernization and globalization have shaped the'development contours and
discourse in countries across the globe. These processes and globae} interdependence have
influenced not only international relations andssocial, political, and economic environments,
but have also hugely affected how we conduct i ternaltiona%I social work education and practice.
| ¥
Although modernization and globalization' in natidns across the globe have had positive
effects, it has also created a variety of global social ch l}éﬁges. This is particularly the case for
developing countries that are frequently the target of externdl imposition of development
programs, strategies, and change processes. Throughsmodernization, many countries have
experienced and continue to experiencésocial change and the potential for self-sufficiency.

With the advent of globalizati?rqlﬂso%ial problems cannot be effectively dealt with by a single
country. Unfortunately, most déveloping countries are falling outside of the beneficial aura
of globalization. Therefore, a collaborative effort that transcends national boundaries should
be employed in tackling these global social problems.

-

|

Globalization is an ongoing process associated with :

4

(@) Production and distribution of goods and services beyond national boundaries

(b) Free trade Jr’mcl'iples

(c) Tariff barriers

(d) Non-tariff barriers

Co‘dﬁci :
(1) ; (@) and (b) only (2) (b) and (c) only
(3) (c) and (d) only (4) (a), (b) and (d) only
yorons RN u Faper
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96.

et fou 1T Tener U i sHes ag fIU T WS (96-100) T SH RN o WX H SO HAH
o YN WX I ST :

SYSITSRIOT o1 g oMffer Scared, foawor ofR Suvi & Hefud |t ufshanedl o1 SRt Tehih
B I Aisha IEET & e W Gad €9 W I W g SR SR qn i Te SHehei - wiean!
sTefenfordl & Heifed Har samR & fagidl o waifee aiafad 2 g |

STATRTUT T AR TS & IR T Theld 21 T © IR I8 319 wrwifsreh, Tsiifeh 3R Jfe
wonferd <6t fafire feret 3 ofier weere faemn =redr €1 Aeeiehon it Tt - e afure 59
ST <l ST¥eTeh ehiehTUl o1 Teh UE! Wik 3 &9 § oo et o, forad fafers &, wesiaa 3l

e Wit s 9 @ SR A % e @ # se sk, I
e fean wn o Sfvesror ww guaeh favaenrd dwnfa, u favaenrdt seferereyn iR waifys
HEEYU, T Uhel T o &9 § 5w 1 el SrEchdl & ST H Yo |

PR SR St 3 freer & R fowa # foehra o wovare qof fowed @ s fom ¥
= iRt SiR Atk siR-fasiRar 7 7 ot i Sedl T wmifee, TS iR s
STl i gutferd feman &, WW@W&EW@HW%%WWWWW
w1 frer qem o7 Rl Hefeld T © |

ﬁwmé&ﬁﬁwgﬁﬁwﬁxéﬁw%w‘uﬁa@ S T 9 W H AR
TR TR o S g8 ¥ e T 39 % WL R w0 9 searaa €, S fa
HTederei, T iR aRed=-afsmaneii%en] sTer ® 9 9igH % SRR 9 o7 €1 Skt
%mmﬁméﬁﬁwmﬁwm%ﬁwwww%

CREICTICC Bt e %mawnﬁwmmﬁﬁgﬂ@mﬁ fTqe &1 Wehar | gHiE,
ATYIRIIT I TR & ATHYE IRAY & ded & | & | THAT, 39 afyass e Taensti 9
W%WWW@??@F TS T foma 1 =nfeq |

{
é‘%ﬁﬁwwwﬁm%wﬁmﬁwﬁm%

(a) W@mﬁ%waﬁaﬁaﬂ?@mﬁwmww

s o i

(b)
€) U ITeRY
(d). R-Tgeh ey
=
(1) o (a) 3R (b) (2) < (b) R ()
(3) A () 3R (d) (4) %9 (a), (b) 3R (d)
ranors [ IHULA N i3
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97. A social work based definition of globalization encompasses.
(a) Integration of people
(b)

(c) Preservation of cultures

Integration of economics

(d) Preservation of political processes

Code :

(1) (a) and (b) only (2) (c) and (d) only !

(3) (a) and (c) only (4) (b) and (d) only ,.("
98. The ultimate goal of globalization is : | f

(a) Developing a global economy r

(b) Developing a global market - - f

(c) Developing a global culture _ & | (

(d) Developing a shared awareness of the w?_ﬂd »

Code : f |

(1) (@), O, (© and (d) @ /@, () and/(c) only

(3) (a) and (b) only @ ongr (l

99. The primary responsibility of Social Work Education ?1'the context of globalization is :
(a) Understanding global economic environment
(b) Understanding global p_oﬁﬁcq_l’(scenario
() Understanding global s_(}ci’al context
(d) Understanding international relations
(

e) Aligning with<nternational Social Work Education and Practice

Code : { (
(1) (@), (b), (c), (d) and (e) (2) (a), (b), (c) and (d) only
(3) . (a), (byand (c) only (4) (e) only

100. To benefit most fl}lam"'the globalization by the developing countries, what needed is primarily
is :

(1) “External Development programs
(2)" Strategies Fnd change processes from international agencies
(3) Social, Political and Military support
(4)', Collaborative effort transcending national boundaries
i r
-00o0-
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www.examrace.com



97. ITATHIUN Tt Weh TS -7 gRymen # wfwmfed € ¢
(a) NI T TR
b) SAATTEAIS HT THIH
d) USHIfdes gfshansti o1 Sie
<
(1) %9 (a) 3 (b) (2) 9 (o) ¥ (d) {
(3) ¥ (a) ¥ (0) (4) ¥ (b) S (d) { s

(
(
(

98. SvdeRIUl 1 HfaH WA T
(a) T Afvash srefezaen #1 fasm &
(b) T Afvash ISR I faehm & d
() T Afvers Hehfd o1 formm Ll Vi |
(d) faes =t | S i foawfad we 4
%< . 1 |/
(1) (@) (b), (©) ¥R (d) (2) | Faa Wb) 3R (c)
(3) RO (a) 3R (b) (4) ot (d

-

/

99, e 3 g & e e Fren 1 Sy s £ 1
éﬁwwﬁmwaﬁw
éﬁwuﬁﬁmm_ﬁw

Afyas gmfere gy w1 TmeE
RIS Flell Rl THeT
aﬁﬁgﬁuw%ﬁﬁmaﬁ?amm%waw

o o
~— ~—

AN N N N N
?ﬁm Q. n

N L S
.

(a),-(b), ( (d) 3 (e) (2) = (a), (b), () 3N (d)
FA (@), (B) I (©) (4) FH (@)

-
—~J =

SN
~—~ ~

100. foshrasiict <9 R Aveiehor @ SAfereRisr oy i Wiftd q&T €9 4 ©
(1) 1 mﬁw'lw
) SRS Teitea | THIfaar 3R afed"-wfshamd
(3)\ , FrmfSreh, TsHifaen S S el
(4) » LT FrSii 3 TR e

-00o0-
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